
COMMERCE AND ACCOUNTANCY (Code -1062)
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Note : (i) Attempt five questions in all. All questions carry equa! marks. Question number 1 is

compulsory. Answer any two questions from Part-l and two questions from Part-ll.

The parts of the same question must be answered together and must not be interposed

between answers to other questions.

(ii) ln case of any discrepancy in the English and Hindi versions, English version will be

taken as final.

fre : 1ry W fq qeq Ed dftqr q.t qeq] + st6 sqn tr Ifi dqr 1 0{M tl
qFr-r t * qeql Grr qFl-lr t fr qe'if si Efi {ftqr gd qQq + fffi eieil sr sf,{

[7.5x4=30]

gd qlq flfrqr qd qen *.:irt ffI s\R gat ml-* eieil fr'qeq q il ErEr

(ii) qR oiifr si ffi R-{iuT t +i hfift A, il gi}-S trq{q siftq qq qThr

1. Answer any four of the following :

Frr{frkdqtffiqR+s6Qftq:

(a) Accounting is language of business. What does it try to communicate to users and

how ?

tei%.q qzR{rq fr qrqr tr q6 qqM,0t fr m st{ +t Hqfrd +-G +r szri{ s'-.dl

B/

(b) "lncome-tax is a tax on income and not on receipts." Explain this statement and give

essential characteristics of term income.

((oT[q-.h-{ 
oTl-il rt-{ oTt qisT s-{ t, Hkfr q-i $Ti qrcr ;r&r" {fl +Eq d eq dfrq

sil.r enq eTq + q5q ffiiur q-orElr

(c) Discuss the civil liabilities of a Company Auditor.

qrd sq-fr oi+effi + rT{RiF qrFre} fr qrqr dlqqr
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What is Material Cost Variance ? Explain its various components along with formulae

Hrq.n 6nr6 ft-ap1 ffi t ? qH+ Bkq qlfr d qa (trd sq dfrqr

(e) "Leadership is the driving force which get things done by others, no amount of

organisation can replace leadership." Comment.

'+q-s {6 ro{q eTk t fr ore cH fr sr{ m{rft t, fu.Hr {i sr6l. Tirrd-{ i-E-e m
qfrerTm-d q-& T-{ TFFilt' Hfrqil dfrqr

(f) Discuss the provisions of lndustrial Dispute Act, 1947 with regard to Labour Courts.

oidFm frqK s{URqq, 1s47 t qq qrqml fr sqfq6 q-qqnl fr qrtqT d&qr

Part-l / qFI-l

What are capital gains ? How aie these computed ? Are there any exemption available to the

assessee under this head ? t30l

(fr or-r qqr t ? {q-fr r"rqT +fr fr Erfr t i wr qH eft{m t q-rqT-dr +i dri {c qlK t ?

qrGrII dfrqr

(a) Elucidate the role of Secur[ties Exchange Board of lndia (SEBI) in regutating capital

market in lndia. t15l

qr.n ii [fr qnEri + Rqqq E qTCfiq qRr& hRqq ad (a-e) m TE$T 6r s.frq
dfrqr

(b) Mention the various steps involved in Receivables Management. Explain the method of

credit appraisal. t15l

q-q + q-q-'el it frEf, ERq qfr s'l q"i-{ mfrqr Hrq T-smq fr trfr fr qnqr dfrqr

4. What is meant by lnternal Reconstruction of a company? State the circumstances in which

internal reconstruction becomes necessary. What accounting entries are passed in the books

of accounts of a company at the time of internal reconstruction ? t3ol

\rd 6qfr + erT<k{ gqFiqi"T t wr orQrii t I cq qRftrRrql ry sdq meq q-q srT<fr{
gEffi"I oilqQqfi e] qror Bt qr<R-d gqffi.T + wq qrd E6E[fr m aqT gmd E fi-{-rt1-{
t&qrR-dRfrqilB?

Part-ll / ql-{T-ll

5. Examine the current state of labour-management relationship in lndia. What measures would

you suggest to make these more cooperative? t30]

(d)

2.

J.
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q-t( q qkm-trdr.q (q sq--erl m q-dqTq Rrh or qtrqrq dftqr {S si-{ 0{U6 reqtft Erfl-i

+ kq orru trn gar+ tt ?

6. (a) what is motivation ? Discuss main theories of motivation

otftiT{T flT t ? eft}.iqT fr gc< M m Aa-qrT dfrqr

(b) Distinguish between 'Line and Staff organisation'and 'Functional organisation'. Which

one would you adopt for a large enterprise ? t15l

'tqr nw sffi {irl-dq' dpII '.srqtiro fi16qr t orcr {f,r{gr qd + swrq * Rq em
qqE fr frq fl otq{rfi ?

7 . (a) Explain in brief the complete procedure of registration of trade union. When registration

of trade union can be cancelled ? tl5l

em €q + q-fr-d{"r m Hai qhqT sr Tiaq q q"h d&qr erq lqq qr tifrqq sEi {E
fuqr qr F+-or t ?

(b) Explain the various methods of fixing wages and salaries in an enterprise. tl Sl

qd swnq E r-q$ qd adq fref{"T fr Am;q HfM +i sdq dfrqr

----- x -----

t15l
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